
35(660(''(/$1'(

$.$ý,QGXVWULSURGXNWHUý$%ýDY\WWUDUý$.$ý996ý$%ãVýYHUNVDPKHWýWLOO
%HXOFRý$UPDWXUý$%

'HQýêýDSULOýëíííý|YHUJnUý$.$ý996ý$%ãVýYHUNVDPKHWýWLOOý%HXOFRý$UPDWXUý$%ïý%nGDýERODJHQ
KDUýHQýOLNQDQGHýDIIlUVLGpñýGýYýVýLPSRUWHUDUýRFKýI|UVHUý996ýPDUNQDGHQýPHGýK|JNODVVLJD
SURGXNWHUïý*HQRPýVDPPDQVODJQLQJHQýEUHGGDVý%HXOFRVýVRUWLPHQWýDYVHHQGHýU|UNRSSOLQJDUñ
YDWWHQPlWDUNRQVROHUñýDYVWlQJQLQJVYHQWLOHUýRFKýIOH[LEODýVODQJDUýPHGý$.$ý996ãVýVRUWLPHQW
EHVWnHQGHýDYýEODQGýDQQDWýSXPSDUñýH[SDQVLRQVNlUOýRFKýILOWHUï

$.$ý996ãVýRPVlWWQLQJýYDUýXQGHUýìäääýFLUNDýêêý0NUýRFKý%HXOFRVýRPVlWWQLQJýFLUND
æíý0NUï

$.$ý996ýlUýHWWýGRWWHUERODJýWLOOý$.$ý,QGXVWULSURGXNWHUý$%ýVRPýLQJnUýLý+H[DJRQNRQFHUQï

6WRFNKROPýGHQýêìýPDUVýëííí

$.$ý,1'8675,352'8.7(5ý$%

3HUý6|GHUPDQ
9'

)|Uý\WWHUOLJDUHýLQIRUPDWLRQýNRQWDNWDã

3HUý6|GHUPDQñý9'ñý$.$ý,QGXVWULSURGXNWHUý$%ñýWHOHIRQýòêèåýäýèéýææýíì


